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AAy lt@hversion is valld in case of differenae in bath tlu langruges.

tmtfurile zr/nqal
fim allowd: YzHorrrl

t.'Wt mr'fmqPrtsrfirqfi +qwt
(4) t.zt
(b) O.tl8

(c) .L2.1

(d) 4,,8

Z. n{.qurtffiirrt[n*att
(a) 40.6itro

(b) .81.2%

(c) 50'01%
(d) 8o2qr

3; ;ftilqffi q{fuffi kqrfr it *,'frh t
RFfiT( qutdsFr fours { {e+ iqqr

ffiarq*nrt?
(a) dr{A€
O) diqqfirs(
(c) qirtsil€(
(d) qfiEt qTqr+

tEfirmq dtr': 3o

Maximum Marks : 30

1. The tipple factor of full wave rectifien is

(a) L.zr
(b) 0.48

(c) r2.r
(d) 4.8

2. EfEciency of half wave roctifier is

(a) 4fi.6%

(b) 8t2%
(c) 50.01%
(d) 80.2%

3. Which 'of tlre following amplifier
conligruathn yields'the largest power

gain of all transistor amPlifier

conflguraions ?

(a) ComPonbase
(b) Commonemifier
(c) Common collector

(d) Emitter follower
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t'q + R{m fu,qt qkil t, Er€m
AF = 1*'sq{qnrqilt
(a) ftm * garkhauscn q,'{il&

O) ftT{*qdtpaunson
(c) ftil{tv+rrrm'u*S
(d) td+mrirff r

s. w' shdq Fils {, qr * gFm
qE dsTrr + *S r+o ffilw rrci t
(a) EiFilrs{
(b) *s 1c.)

G) qn*GJ
(d) frrtsil (Rc)

6. qu'h'rfiE*,dtqqpTt
(a) qI( silt$
O) qm sk*
(c) qR siltqfr

(q) qR ET|Tqr['rt{EttrrR[

1. frT*ftil frqm Bt vil Hrrrrk sq *
errwr'q{ H+rr ftFqr qil t
(a) firmqfoet
(b) amiu
(c) fiqqdr{
(d) sq{tm+q*

o. rl-r-rsiiEa q IT IFFT Rifg ifqt lF Iglqrf
trmr sffiiur f r
(a) JFET

(b) BJr
(c) MoSFET
(d) triode

at 203E 
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4. Tl/trpn positive feedback ampqfior is !
used Bs oscillators, ttre condition
AF = t is known as

(a) Barkharson criterion of
oscillation

O Pakinson criterion of oscillation
(c) Positivp criterion of oscilatiou
(d) None of these

5" In a resistance load, RC coupled
amplifler the dc componeni is
blocked by
(a) Transistor

O) cc

(c) RB

(d) Rc .:

6" Two main parts of a tank circdt are J!

(a) R and C

O) LandC
(c) R and L
(d) RandaNon-fiansisror

1. Which of the following configuration
is normally used an cascading ?
(a) Common emitter

OJ Common base

(c) Common collector
(d) All of these

E. Whlch of thp following is the fastsst
switchlng devices ?

(a) lFBl
O) BJT

(c) MOSFET

(d) Tfiode
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gmat6r<r{retEr+nrmtt
(a) sarE{gelftqlqf
(b) oquR
(c) FsIqT{gtqEqwR
(d) wrnqrntl{kd""q

*t tcBl qrydq{rqt{ ne q+r s,,ti t
(a) +itqufrlr{qk
O) qraqtu{qtc
(c) +dfqukfrs*
(d) qrasfu{q,fr

fr-qfiq rifr{a( q6- , F1kc

firqunt t

(a) gr<r, ffiE
O) qRt, tmI

(c) qi&, qRI

(d) *dg,rnryEq

12. qF St (cE) fr-rqrs dfiil€( qr6uut
d
(a)

O) F$q tr ersqs ern +'*q tgo
q{qqfrcihardrt I

(c) T{gE ,*t e[rCry qnr 6'+{ 6ti
eWlqlfffifAfmi ,

(d) Er{+rht{'{fi
',

lFqnrffi lnr tmt tlffififfi * rr<r

rqqrqmt:
(a) A(t + FA)

O) ff(l+ FA)
(c) p/(1- p,{)

(d) A/(1 - pA)

r qR qrscg.c dieq a^ fr
eqqrfu-{warrai r
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What is the advantago df FEf, tn
codparison to BIT ?

(a) HighinPutimPedanco

O) [.ow noise

(c) High'Uain baodwidttt @uet
(d) Its cunentcontrpllodbehaviour

The effect of intodqcing Rc in the

CB gmpliEeris to

(a) increase the voltagP gfin

O) inctcase the cur,rent gqln

(c) decrrease the voltagP Sain

(d) dpcrease the eurremt gPin

A bipolar Eansistol is a

conf6nud devloe wherc as a FET is a

co$trolled device,

(a) cuffPnt' voltage

O) currpnt, current

(c) voltlgp, cuffcnt

(d) volts€g, vgltage

In a CE configrr$tion tra$istor
amplifier, there is

(a) No Phese change betrn'een lPput

and outPut voltage

(b) 180phase changebetwecninPut

and output ctfiont

(c) No phase ctrange berreon inPut

aud orrtPut current

(d) Nonp of ttlese

The eatn of an anPlifia with

feedUact ls $vonbY the relltisn

(a) A/(1 + FA)

O) P(l + FA)
(c) W(1- PA)

(d) A/(1 - pA)

P.T,O.
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14. qEFff,srqt 6r Eht{ Hr Eri wrt rrq e{salqrflrtr
(a) milg
(b) EIrq+
(c) mrr*
(d) wr*

15. EX-OR ga@ sr WF Zwtr tfrrr m

(a) Z= A
(b) Z= t
(c) Z=A
(d) z=2

16. qtr qr kq ffiq dq rht tnrrdrr *ntt
(a) JK flip-flop
(b) D flip.flop
(c) RS flipflop
(d) Tflip-flop

t't. qs'iE eud $ft 
-Eqge 

d tt w at
erreqefomrt
(a) Inverter
(b) NORER
(C) ANDER
(d) NANDER

18. Rarc-tmm y = (A * B,+ A'Brc'. y
avtqrwsrt
(a) Ac'
o) BC'
(c) c'
(d) Erd++$qfi

19. qfr Um qsf + qrsqc {q (s) q *t
(c)t
(a) S = I sTrrtqtd* aftm.frgr r

d
O) C= I um*qrdt o&o.gqgf 1

tt
c=lw$frqqrrd r

S=tnilq$+egcrd r

203t

14. Which class of amplifier has the
lowestr efficiency ?
(a) Class A
(b) Class AB
(c) Class B
(d) Class C

15. What is the ourput Z of an H(-OR
gate, whosBall input are set at A ?
(a) Z= A
(b) Za I
(c) Zc0
(d) Z=2

Which qf the following flip flop is
used as larch ?
(a) IK fiipfirip
(b) D flip,flop
(c) RS flipflop
(d) T flip-flop

A gate in which all inputs must be
low to get a high ourpur is called
(a) aninverter
(b) aNOBgate
(c) an Al.lD gatg
(d) aNAI''IDgate

The Boolean exlxession ! = (A + B'
+ A'B)C'. Y is given by
(a) Ac'
O) BC
(c) C'
(d) None of these

In the full adder, denoting sum by S
and carry by C
(a) $ - I when two or morc input

are uniry.
O) C ,r I when two or more input

arc unity.

17.

18.

19.

(c)

(d)

(c)
(d)

C = 1 when all tre input are unity.
S = I n&e,n all &e iaput anc
unity.
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Ft-qfuftilr qzm$ $€firrft !ilqfir$ *
{sfitur +idrq Sqtcr kr qilnr t :

(a) w,rker
(b) qqrfu
(c) qtrtffiqdq
(d) ffieHi'
4g:5 ffiHffioTut++frqft'il+
kq kfr *ffi qfr sflqrwrcfir ** t r
(a) 4
(b) 5

(c) 3

(d) 17 
,.;

qqr tm qE-{ A Hqr B. {{Ira ri ErqT c $rqt*iwftrt ''; ,

(a) A+B
O) AB
(c) AB'
(d) s,q*fir{+.+tqfi

firEftlUEr ftffiq wfq tg qtriis wrsr
qfitz
(a) *Fffiqffiq
(b) urffiqffiq
(c) firfiffiqwlq
(d) qmrtrdqfuqwfiq

w'qtqftsrftffiqqdq.qrtr
(a) I fre$Enwrfrr

o) znaqqturvo
(c) g kd{srq*e
(d) aka{egorder

qfttr.s+'r { rTfr w+ en$ 616 Lt
(a) OR ffit .A}trD gates

(b) NORilI N,AND gates

(c) NQRf,q A,ITID gates

(d) Nrut5*ORgates

2038

Which of the following cmponect is
used for storing binary information ?

(a) Aregister
(b) A larch
(c) A flipflop
(d) All the above

The number of flip-flop require to
build a mod-S counter is
(a) 4

o)s
(c) 3

(d) 7

The expression for carry C in the half
adder with input A and B is given by
(a) A+B
(b) AB
(c) AB'
(d) None of these

Which of the follorving flip-ftop do
nothaveraceproblem ?

(a) T flip-flop
(b) D fiipflop
(c) JK flip-flop
(d) Master*Slaveflipflop

What is a simple flip-fbp ?

(a) I bit storago coll
(b) 2 bit storage cell
(c) 3 bit storage coll
(d) 4 bit storage cell

The most wid.ely used universal gates
afe

(a) OR and AI,{D gares

(b) NORandNANDgates
(c) NOR and A}{D gateu

(d) NAND and OR gatee

P.T.O.
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t6, BFE $ngt # srq ak qt fdmH fif
WrFffiqwlqfrqrtt
(p) qsqrfrnqtnl1,

6) qhfrffirffiq
(c) Sfiffiqqfrq
(d) rtftffiqdq

qm, qffi qtt#t fir+ * ftq dtq Hr

FeWqsH{fttqrvtfrrtr
(e) D fiipfloP

O) SR flip-flop
(p) Latctr

(d) IKflip-flqp

El ITrs +' H(-oR ta fir+ + ffi
ffi z+oo lc a vrstrqgifr,t I
(a) 1

o)2
(os
(d) 4

ltn'Erq'qgtst T{r+ #frqqh + fu
S qtrqqqqfirdfi tr
(a) E)(-OREtrwTNOR(r{

$) H(_onEnrqroRErt
(e) EX-oRilllIANDErt
(d) FpurN$hIDEIc

w,,K tq * + ftFil+ tftanr nr
dt nrsr st qrfi+ + w foqr w trhilr
tt
(f,) 2

o)3
(p) 4
(d) s

79,

(o 200r

V{hich flipflop is goneraltry used in
shiftresister ?

(0 SR flipfiorp

G) JK flipflop
(o) D flipflop
(61 t flip-flop

If one wails to design a binary-
ctudter, which type of flipflop is
paeferted ? -"
(a) D fiipflop

G) sR titp--,flsp

(e) I+tch
(d) JKflip-tlop

The numbq of 7400 IC rquired o
Eako a ffio ibbin EX-O( gate is

(a) 1

(h) 2 ":''
(e) 3

(o4

fu Cqru requhs4 o btrild a ha|f
addcr are

(0 EI(-ORg$eqdNORgate
(b) EI(-ORguteardORgate
(o) EX-ORandi[ND gato

(d) FourNA}ID gates

Upto how naty Varlable trt ls wise
enough to appty K-ryap method
re&rction tcchnique ?

(q) 2

(h) t
(e) 4

(d) s

w.

28.
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tif , O vqonm qft;s+t +ir++ffi, rfr#grrqrFd t
Noke : {2qestion No. I is cwttptlsory, dnswer airy frvc qustlons fmm tlu rerufuting.

Utt iiaiAimil,Vt7 qiriiifriwBtfqfP?qEm qWq t
Solve alt parts d q qrcstion consecutlpety togetlur.

(iiil railrry{#aips*nqqr#Frt '.
Stert each quc stion on. a ftcsh paga.

(iv) rh| *rnsIf rarri* #nq&# qtril o6n* {rat t

Ortty English vercbn is vdtid in case q tfiffererwe in hoth ilp lailguaga.

gfr # m frrrrrdtqilr S.sd,+.1 ol q.snq I

Bxplain kak Invervo Voltrge (P,[V.; of diode.
redrt drrkt qqfrTql qur tilS t r
Wnt are half power tequ6ncies in amplifiel t
qtcm + Hq qrfurefi tTF wt titn t r
TVhat is Barkharson qritpril fqr osciUatioqs ?
tqe r*etfp gp *'r.ftr{ BX:OR gah T{rfi I

Realisp H(-OR gate using NAI{D gato outy.
Fr kq.!fiIq { ts qflgr$1trr*{r wr d* t t
Wbetis Rrce afoudprobleminJ-Kfiipflop ? (4xS)

$*rilfrrgrilsugffi.ffiirrfiN-srt fri k ttc eqp,rrri m rHrS qtm q4 #Sr
Wfsrtqumffi |

Explain Half wave r€ctifiet using somi-conductor diodewith diagram and derive
the effrcicncy and ripple factor for it.
fiilk-A vk r+to* Hfurld * qffiAt ilqt wd Fr,lil uh er ffiq qfrkq l

Ex0lato rror5tg of Gtass-^A, pouttr rmpliEer and analysd its output powor; (-614)

(?) P.T.O.

(ii)
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3, (i) srmft€udt'(CD fiHsrkrfl+Fr+{ftHqrtT'lfi v-t efuf,ittfttrs'ffi'fr !g

Helt qrsrf+ I

Draw and explain Common Emitter (CE) transistor configuration's r4put and

outDut V-I characedstics cunres,
(ii) p #{+'MosFETdritrin, erffiwr qfuntlflffru'ffi1o}qqui r

Explain construction, working and characteristics eurvcs of P-tpe MOSET. (6xC)

4. (i) 5{:tr+{r EHr frr t ? ffiq sfiR*.Eq:ftrdrft ffi m qolq dPqq r

What is feedback ? Describe vuirxrs fredbacks topologies.
(it) giks{ Rc E6crr fu' rm ifu +fi*afi ffir qirffi ai frqE fu qrmqqflE+ r

Exptain the primiple & working of transistor RC phase ehift osci[ats with
cirauit diagram. Grt)

s. (i) X+YZ+ (X + Y) (X + A e+ f'rq trrqt firsqiftq :

(a) q"t wffi{firatq*
(b) E.dqq {qqFrdri
Prove X +YZ= (X + Y) CX +.Z)by usrrw :

(a) rPerfect induction nothod
O) Boolean Algpbra m€thd

(ii) rtrq qi,' K-map # wrmr q gm t,TfiITiil"ur HfrrENr rn''qrrfi q re$ryq
dlqq I

-
Y (A, B, C) = f,,m (0, 1,2,4,5,7)
Simp[fy frte folkunhgby usrngK-map and realiso the outputwlng logic gatss.

Y (A, B, C) =.I,m (0, L,.zr 4,'"5,7) {}f,r0
6, (i) fiqn{t'fr {utfrodtrffir crtq'Enn wuflffir *qfnr * Wr*q+ r

Exphin bimry tull ad&r usiqg togiaal dieram and ru&,abte.
(ii) nCp zneroErr fifu qic qn rilFlilt t swrq t

Explain working of BCD addcrvttr logic diagram 16ro,\

7, (r) J-K qmer*e'$fiHq.ffiqshfir{flun*fu eFsf,frsr*'mmm.'tsryn$ t

Exptain worHng of J-K riastor slave flipnop-wi6 thetclp-of diqgrflm aril trutb
table.

(ii) n r q.1-+.*sr&qrd fu HqT ve-f,rfuT 6q6prmt Wfi I

Explain wuldng of Rrng counter usitrg tliagmn andtruth-dbh. 6>.o)

8. t{q{t'k16*{kqffi6n:
Write short note.s on any two of the following :

(i) ft.BFEnffifrm+Filq
Advantages of digital tpctiniques

(ii) Fr:qfr{h
Self Biasing

(iti) fr$rr{ qPffir GIE {fu€a)
Shift Regisrcr (6>lC)

(8)


